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WState the domain and range for the following relation. Then determine whether the relation represents a function.

Aword Category
AS Size
Red Color
Yelow —1 |

45 Number
A Letter

Choose the correct answer below.

) Domain : {Red, Yellow}

Range : {Color}
fﬂ Domain : {XS, Red, Yellow, 45, A}

Range : {Size, Color, Number, Letter}

Domain : {Size, Color, Number, Letter}
Range : {XS, Red, Yellow, 45, A}

Domain : {Size, Number, Letter}
Range : {XS, 45, A}

Does the refation represent a function?

A. No, because each element in the first set does not correspond to exactly one element in the
second set.

)(B. Yes, because each element in the first set corresponds to exactly one element in the second set.
C. No, because an element in the second set corresponds to multiple elements in the first set.
D. Yes, because each element in the second set corresponds to exaclly one element in the first set.



math1414eliz Pagc
State the domain and range for the following relation. Then determine whether the relation represents a function.
{t4,7), (=9.7), {9,10), (4,19)}

The domain of the relation is { "—’f (f 9.
ded.)

{Use a comma to separate answers as née

The range of the relation is 7 / 7 |Cf ]
(Use a comma to separate answers as needed.)

Does the relation represent a function? Choose the correct answer below.

() A. The relation is a function because there are no ordered pairs with the same second element and
different first elements.

%B. The relation is not a function because there are ordered pairs with 4 as the first element and
different second elements.

() €. The relation is a function because there are no ordered pairs with the same first element and
different second elements.

) D. The relation is not a function because there are ordered pairs with 10 as the second element
and different first elements.




tate the domain and range for the following refation. Then determine whether the relation represents a function.
{(~5.5). (-4,5),(-35).(-2.5)}

The domain of the relation is {-"; —-‘/,-—3 “‘9-. 2 g

{Use a comma to separate answers as needed.)

-
The range of the relation is { S L.

(Use a comma to separate answers as needed.)

Does the relation represent a function? Choose the correct answer below.

}'_Q\. The relation is a function because there are no ordered pairs with the same first element and
different second elements.

B. The relation is not a function because there are ordered pairs with 5 as the second element and
different first elements.

C. The relation is a function because there are no ordered pairs with the same second element and
different first elements.

D. The relation is not a function because there are ordered pairs with — 5 as the first element and
different second elements.



@ State the domain and range for the following relation. Then determine whether the relation represents a function.
{(-1.4),(0,3), (1,0), (2,3)}

The domain of the relationis { =/, @, |, 2.\,
(Use a comma to separate answers as needed.)

The range of the relationis { O I 3 ! ﬁ p.
{Use a comma to separate answers a& needed.)
Does the relation represent a function? Choose the correct answer below,

(O A. The relation is not a function because there are ordered pairs with ~ 1 as the first element and
different second elements.

(O B. The relation is a function because there are no ordered pairs with the same second element and
different first elements.

(O €. The relalion is not a function because there are ordered pairs with 0 as the second element and
different first elements.

V},(D. The relation is a function because there are no ordered pairs with the same first element and
different second elements.



@ Determine whether the equation defines y as a function of x.
8x? + 3y =1

Does the equation define y as a function of x?

) Yes
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@ Use the graph of the function f shown to the right to answer

parts (2)-(n).

{a) Find f( - 7) and f( - 2).
f(-T)= -G
f(-2)= G

(b) Find f(6) and f(0),

f(6) = @

(c) Is f(2) positive or negative?

) Positive

ﬁ( Negative

(d) Is f{ - 3) positive or negative?

X Paositive

) Negative

(e) For what value(s) of x is f(x) =0? /

X= "'6 l. ‘7/ l,l'l
(Use a comma to separate answers as needed.) f

(f) For what values of x is f(x) > 07

(Type a compound inequality. Use a comma to sepajate
answers as needed.) /'

(9) What is the domain of 7

The domain of fis {x| “T£X£6 }.
(Type a compound inequality.)

(h) What is the range of f?

The range of fis {y| -6 é‘-ﬁ} <9 b,
(Type a compound inequality.}

(i} What are the x-intercept(s)?

e =6, — &

{Type an integeF or a simplified fraction. Use a comma to

separate answers as needed.)
{j) What are the y-intercept(s)?
y = B

(Type an integer or a simplified fraction. Use a comma to
separate answers as needed.)

{k) How often does the Iir@@ersect the graph?
3 time(s)

https://xlitemprod.pearsonemg.com/api/v 1 /print/math

mathl414eliz

1 time{s}

{m) For what value(s) of x does f(x)@
X = '_7 1(

{Use a comma to separate answers as needed.}

{n} For what value(s) of x does f(x) =97

x=__—3

(Use a comma to separate answers as needed.)

9/11/2017



Determine whether the graph below is that-of-afunction Aty \
-using the vertical-line test. Ifitis, use the graph to fi \
its domain and range. ‘\ @’
(2) /

the intercepts, if any. . 2 . ,
(b) - j/—a(l 2 n:\:t
(c) any symmetry with respect to the x-axis, y{axis, or the k=1 /

origin,

Is the graph that of a function?

}( Yes

) Ne Hr
Ifthe graph is that of a function, what are the domain and range of the function? Select the correct choice below and fill ir(l
any answer boxes within your choice,

XA The domain is [ ri YT‘ . The range is E'-’j ‘j
(Type your answers in interval notation.)
() B. The graph is not a function.

What are the intercepts? Select the correct choice below and fill in any answer boxes within your choice. |'I

SCA. The intercepts are (L[ C‘) ( «)) (ai |) /

(Type an ordered pair. Type an exact answer usmg n as needed. Use a comma to separate
answers as needed.)

() B. There are no intercepts.
() C. The graph is not a function.

Determine if the graph is symmetrical.
A. Ilis symmetrical with respect to the x-axis, /

)5<B. It is symmetrical with respect to the y-axis. |
C. HMis symmetrical with respect to the origin. f

D. The graph is not symmetrical. /
E. The graph is not a function. /
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O

\

e
Determine whether the graWtion by using
the vertical-line test, |Lit-is;0Se the graph to find:

(a} The domain and range

{b) The intercepts, if any

{c) Any symmetry with respect to the
x-axis, the y-axis, or the origin

ts the graph that of a function?

ﬁf Yes

3 No

{a) If the graph is that of a function, what are its domain and range? Select the correct choice below and, if necessary, fill i
the answer box to complete your choice.

'ﬁA- The domain is( =% 00) . The range is E" 9, 0o)
(Type your answers in interval notation.)
() B. The graph is not a function.

(b) If the graph is that of a function, what are its intercepts? Select the correct choice below and, if necessary, fill in t
answer box to complete your choice.

K’IA- The intercepts are ([/ 0) ('-8 0) /0/ =
(Type an ordered pair. Use a comma to separate answers as needed.)

(C) B. There are no intercepts.
(O €. The graph is not a function.

(c) If the graph is that of a function, determine what kinds of symmetry it has. Select all that apply.

] A, ltis symmetric with respect to the x-axis.
(7] B. Itis symmetric with respect 1o the origin.
[Jc. Itis symmetric with respect to the y-axis.
D. The graph is not symmetric with respect to the x-axis, y-axis, or the origin.
[[1 E. The graph is not a function,

https:/

/
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The graph of two
Use the grap

(Sirriplify your answer.)

Ocowm=

(Simplify your answer.)

f
E &)= 3

W




question,

I 1, IO)I I(5, [0}]

to answer the

e e




A
1004
] (9.81)

. 50
f -

P e — T

0 5 A 5 10

‘50
-9,-81 ]
( ) -1g04

/

on which fis increasing.

separate answers as needed.)

1



e

ncﬁb’ﬁﬂf';ven below to answer the ""| Is therg a local minimum at x= = 37
|

I. >< Yes

No \

47.% Use the graph of the f
guestions.

Ey
o

] if there is a Jdcal minimum at x= =3, what is it? Select the
below and fill in any answer boxes within

he local minimum is y = "'"o'
(Type an integer.)
) B. There is no local minimum at x= - 3.




e

se the graph of the funtiidh?_éivén_beiow to answet the l.i\t the values of x at which f has a local minimum. Select
ioTis. e ST T e _the'correct choice below and §ill in any answer boxes within
e yougtl\oice.

T \ L.
j }'._({AJ:* e -—-_3_1 i_ : 4

(Typ_e an integer.'Use a comma to

5- ;’ separate answers as needed.)
i ()/B. There are no lecal minima.
pads e is( ALY V-A A AR e /éhat are these local minima, if they exist? Select the
E ’ . correct choice below and fill in any answer boxes within

i s our choice.
7 ¥
'fo- The local minima are :’ - | .

(Type an integer. Use a comma to
__separate answers asneeded.) 2
(7 B. There o Toca




T )

49. Hind the absolute maximum of fon [~ 10,7].

Select the correct choice below and, if necessary, fill in th
answer boxes to complete your choice.

)’( A. The absolyte maximum of f is
( —8 )= T
(Type integers or fractions.)
1 B. There is no absolute maximum.

-12-10-8 -6 -4
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_,——'—'__'_'-'_'_'_
< ______,—o—'—'_'_'_'_ [l
o= (a) Select the correct choice below and fill in any answer |
boxes within your choice. @
;( A. The value(s) of x at which f has a local
maximum is/are x = >

(Type an integer. Use a comma to
separate answers as needed.)

() B. There are no values of x at which f has a
local maximum.

Select the correct choice below and fill in any answer boxes
within your choice.

o A. The local maxima is/are

y= 2

(Type an integer. Use a comma to
separate answers as needed.)

() B. There are no local maxima.

(b) Select the correct choice below and fill in any answer
hoxes within your choice.

& A. The value(s) of x at which f has a local
minimum isfare x= —Z , |
(Type an integer. Use a comma to
separate answers as needed.)

() B. There are no values of x at which f has a

local minimum.
Select the correct choice below and fill in any answer boxes '
within your choice.

(KA. The local minima is/are

y= 0, O

separate answers as needed.)
("1 B. There are no local minima.

hitps://xlitemprod.pearsoncmg.com/api/v I/print/math 9/11/2017



(a) Thenumbars i-any abwhichTHas a local

maximum. What are these local maxima?

(-5

{a) Find the value(s) of x at which f has aJocal maximum. Select the correct choice b

your choice. 7“"‘
/
R x=_ 7

(Type an exact answer, using ©t as needed. Use a comma to separate answers as needed.)

and fill in any answer boxes in

() B, There is no solution.

Find the local maximum. Select the carrect choice below and fill in any answer boxes in your choice.

Ka /2
(Type an exact answer, using © as needed. Use a comma to separate answers as needed.)
() B. There is no solution.

{b) Find the value(s) of x at which f has a local minimum. Select the correct cheoice below and fill in any answer boxes i
your choice.

o v I

(Type an exact answer, using x as needed. Use a comma to separate answers as needed.)

() B. There is no solution.

Find the local minimum. Select the correct choice below and fill in any answer boxes in your choice, /
7@ a  —12- /
(Type an exact answer, using n as needed. Use a comma to separate answers as needed.)

—

{3 B. There is no solution.
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@Wﬁich of the following functions has a graph that is symmetric about the y-axis?

Select all that apply.

CJA y=4x

FQB- y=|x]
1

DC. y:;
3

DD y=X

Cc./c_a. /‘J¢/

e
“¢ 7’/1/____1_;_ e
Y ’rI/;aM A dar als (X \
=




atch the graph given to the right to its function. =

)
Choose the correct answer below,
() Absolute value function Identity function
() Reciprocal function 7< Cube function
() Square function Cube root function
(3 Constant function Square root function
Z=Z i z 3 — === :“‘____.
/ Ude S ;/a/)é 5 Ca fcc‘. L%
EXcoplt IV ~ )
b
e
...-'-"'""-H_'_'_'_'_'_ e .

*|: YAl
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Match the graph given to the right to its function.

Choose the correct answer below.

(O Cube root function (O ldentity function

(O Square root function () Absolute value function
(O Constant function . Reciprocal function

(O Cube function () Square function

EX el graph (63 siphy Clesdic D




62. SHetch the graph of the given function.

f(x) = 2x°

Use the graphing tool to graph the equation.




Sketch the graph of the function. Be sure to label three points on the graph. é-

4
0=~

Choose the correct graph below.

LOA O B. y@.
1\\; j\y Ay

6 6
1 (-sdi) :
(= 1.4)5.] 31 ad Y14
4 - ]
4 @-1 X (-1.2) x ; u
-g""_'-lall:Iilllé' _g"_':;":(o',oié”é' T -_-unéulér
3=t4 ‘ -3+
(1=14) ] 11.-4)
-5 -6
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(o) 220 (64,
tx) = { find: (a) f(0), (b) (1), (c) f(2), and (d} ¥(3). f

3.9 if2<x<3

o= |

(b) f(1)= Z-
Nl
(d) f(3)= 2 s

Ho)= 3(0)—1 = 971 = .
/

- L
Ky =3 —( 6= "C>/
) = @ - (V)7L zw@



Loty L
( 65. ‘B‘he function f is defined as foliows.

- ""/ f(X) - X if X # 0
3 ifx=0 \
(a) Find the domain of the function. 6 g"
{b) Locate any intercepts.
{c) Graph the function,

(d) Based on the graph, find the range.
(e} Is f continuous on its domain?

{a) The domain of the function f is (— o0, oo )
(Type your answer in interval notation.)

{b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

R A. The intercept(s) isfare / 0/ 3) .
(Type an ordered pair. Use a comma to separate answers as needed.)
() B. There are no intercepts.

{c) Choose the correct graph below.

O B.

(d) The range of the function fis /'_M: 0) v (0/ )
(Type your answer in interval notation.)

(e) Is f continuous on its domain? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

7_<A- No, f is discontinuous at x = (&)

(Use a comma to separate answers as needed.)
) B. Yes, fis continuous on its domain.
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T'he function { is defined as follows.

x+3 if =2sx<1
fix)=17 ifx=1

-x+2 ifx>1

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(e} Is f continuous on its domain?

(a) The domain of the function fis S ] Qﬂ)

(Type your answer in interval notation.)
{b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

KA. The intercepts) isiare__(0;3) (2,07

(Type an ordered pair. Use a comina to separate answers as needed.)
() B. There are no intercepts.
{c) Choose the correct graph below.

Pt
ot

O D.

{d) The range of the function fis {-—94 Z'f) U {7}

(Type your answer in interval notation.)
{e) Is f continuous on its domain? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice,

AA. No, fis discontinuous at x = 1 i
{(Use a comma to separate answers as needed.)
B. Yes, fis continuous on its domain.
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103. Use the graph shown to find the foltowing.
(a) The domain and range of the function
(b) The intercepts, if any
{c} Horizontal asymptotes, if any
{(d) Vertical asymptotes, if any
(e) Oblique asymptotes, if any

(a) What is the domain? Select the correct choice below and fill in any answer boxes within your choice.

the domain of the function is {x | X :F e %

{Type an inequality. Use integers or fractions for any numbers in the expression. Use a comma
to separate answers as needed.)

() B. The domain of the function in the graph is the set of all real numbers.
What is the range? Select the correct choice below and fillin any answer baxes within your choice.

6{:he range of the function is {yl ! 1’— ! y-

(Type an inequality. Use integers or fractions for any numbers in the expression. Use a comma
to separate answers as needed.)

() B. The range of the function in the graph is the set of all real numbers.
{b) Find the x-intercepts, if there are any. Select the correct choice below and fill in any answer boxes within your choice.
. x= O

{Type an integer or a simplified fraction. Use a comma to separate answers as needed.)
() B. There are no x-intercepts.

Find the y-intercepts, if there are any. Select the correct choice below and fill in any answer boxes within your choice.
- ¥= O

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)
(0 B. There are no y-intercepts.

(c) Find the harizontal asymptotes, if there are any. Select the correct choice below and fill in any answer boxes within
your choice,

A\ |

{Type an integer; a simplified fraction. Use a comma to separate answers as needed.)
(0 B. There are no horizontal asymptotes.

Find the vertical asymptotes, if there are any. Select the correct choice below and fill in any answer boxes within your
choice.

M-/;F £ D“

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)
() B. There are no vertical asymptotes.

Find the oblique asymptotes, if there are any. Select the correct choice below and fill in any answer boxes within your
choice.

(Simplify your answer. Use a comma to separate answers as needed.)

OA. —
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